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Calculate crude death rate and cause specific death rate for tuberculosis (TB)  in a city in 1999, knowing that No of deaths from TB was 650 in that year and the total deaths were 2500, the mid year population was 200,523 individuals 


In a city in the year 2006, there was 5600 births, 623 deaths among them 300 death in infants. The mid year population was 653000. Calculate the infant mortality rate.
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Neonatal Mortality Rate

* Neonatal Mortality Rate—Number of deaths
of newborns in the first month of life per
1,000 births
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Maternal Mortality

* Maternal Mortality—Death of a woman
while pregnant or within 42 days of
termination of pregnancy, irrespective of
the duration or site of the pregnancy, from
any cause related to or aggravated by the
pregnancy or its management but not from
accidental causes (WHO)
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Maternal Mortality Ratio

* Maternal Mortality Ratio—Number of
deaths due to maternal causes per 100,000
births
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Maternal Mortality Rate

* Maternal Mortality Rate—Number of deaths
due to maternal causes per 1,000 women
of reproductive ages

D
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+ Note: Maternal mortality ratio is more
widely used
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Cause-Specific Death Rate

* Cause-Specific Death Rate—Number of
deaths attributable to cause ¢ per 100,000
population

= De * 100000
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Exercise
Maternal Mortality Ratio and Rate

+ Calculate the maternal mortality ratio and
rate for the U.S. (1990), based on the
following data

United States, 1990

Births 4158212
Maternal deaths 343
Wis.49 65 624

You have 15 seconds to calculate the answer. You
may pause the presentation if you need more time.

Source: Vital Statistics of the United States 7989-1991
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Age Specific Death Rate:

* Age Specific Death Rate—Number of
deaths per 1,000 persons of a specific age
(group)
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* Where D, = Number of deaths in age
(group) a
P, = Midyear population in age
(group) a




